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Answer either in English or in Assamese

1. Answer the following questions :. 1x7=7
wore firl eppPTYRd s e
(@) Write the full form of NSSO.

NSSOF 7 eI fot< |
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(b)

(c)

(d)

(e)

)
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(2)

Define primary sector.

sfrafiie Qeq ke fa |
Mention the density of population of
India according to 2011 Census.

205> TR CFPEE WO SEOT AN
Tolg Sy 41|

What is poverty gap?
Ryl ¥ &2
State one problem for successful

implementation of ‘MGNREGA’.

MGNREGA'T 5%¢ FoEE (FAS T8 (2
«G1 FTPTT SCEY A1 |

Mention one negative impact of Green
Revolution of India.

sEed CTow Ry b1 4 o1 Sy
Exil

What is minimum support price of
agricultural produce?

2f8 A Ao Sffe e 1% 2

( Continued )

(3)

2. Answer the following questions : 2x4=8
were Tl ePTgRd e fore
(a) Tertiary sector in India employs two

different kinds of people. Who are
they?

SRST CRIAYR R F=e FeaE R
fic= | GRea™ @i 2

(bp) Name two beverage crops of India.

ST 7R AR > T o |

(c) Distinguish between medium, small
and micro-enterprises.
TN, TG NF Y SR qere A [l
ESIN

(d) What is sex ratio of population? What
was the sex ratio of India according to
2011 Census? ltd=2

TR % T 2 josy
@FPRE S SR o wEere R
iR 2
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(4) (5)

3. Answer any three of the following (d) Distinguish between absolute and
Questions : 5x3=15 relative poverty. Discuss various
causes of absolute poverty of India.
TS o R preen it e T o 2+3=5
(@) Explain any five features of India’s I HIGTel AP AT 7o A1 el
national income. 5 T TRey v TweR fifen PR
o SICeo=T 41 |
SRSq S WS & e w61 e qmem
S (e) What is Land Reforms? Give a brief
outline of any four important
(b) What is meant by population problems for proper implementation of
explosion? Discuss the impact of Land Reform measures in India. 1+4=5
India’s population growth on food PR T & o2 SRwe SR-I1FR
supply and unemployment. 1+4=5 TR T AR [ G SR @3’_\?"1‘1{
TPRYE RCFRT T 2 SReq werey ST SF9{C <61 B SrepT fi |
I AWE A SF FR{R $)_S CieaE)
S TIE S5 40 | 4. Answer any three of the following
questions : 10x3=30
(¢) Give the full form of GST. Explain the w77 ol R el Fofe! e Ses forey

possible impact of GST on the small

and microenterprises of India. 1+4=5 (a) Explain the trend and composition of
India’s national income during post-
1990s. Point out the factors

responsible for frequent variations of

GSTI “f o1 ol | oR©q Fw e =7
T SAT® GSTE (TR *[] 21 ol

gy India’s national income. 6+4=10
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(b)
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(6)

S3b0 B RO PENRES SHEd SN
R AR S A TACE R 41 | SO
O SR N RIS qOrRT SAMETER
wrgferiz fiemm

Explain the causes of inequalities in
income in India. How can fiscal policy
be helpful in reducing inequality of
income? Is there any role of recently
implemented demonetization of €500
and ¢ 1,000 currency in reducing
inequalities in income in India? Give
reasons for your answer.
e WEY WPHON FRPHR W T
IH SISl FIFIN  (FAO I AN
@A RAS T AR ? e TR
S[eq 500 TPl WF 1,000 B (A
Rg@reaed = wpel =99 9 CFae f[F 410
SR Al P ? (OMF Teq e e
Ll

Give an of the role

economic

appraisal
of agriculture in the
development of India.

Sy wAfer Tue PR SiE JemE
=90 |

( Continued )

6+4=10

10

(@)

(e)
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(¥7)

Give an overview of the industrial
development strategy in post-reform

period of India.
ST TETE AT FETEAS O]
grfe TN (FIEPTRY €790 SCF e

|

Mention the objectives of public
distribution system of India. Explain
the main defects of public distribution
of India. Suggest

system Some

remedial measures.

ed el o9 TaER SRR Soay
a1 | Il Red TREE T ANy
2z <1 | SICTRTE @ F9[ A Regam
opgrref Tl |

Discuss briefly five main problems of
Indian agriculture. Explain three long-
run and two short-run measures to
solve these problems.
40 | G2 TPHPYR HEE FR I fofny
TSI SE 701 JFFAN KN T 91

* ok Kk
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3+4+3=10

5+5= 10
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